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Figure 1: Reward accrual rates in the full-information
setting Figure 2: Queue lengths in the full-information setting
0 . . . . .
0.5 . . . . .
= Arm 1 rewards
----- Arm 1 target rate
0.4 === Arm 2 rewards 1
-5000 % = = Arm 2 target rate
e Sos3| ]
g g r/""
el
-10000 502 1
=
[0
o
0.1k — ‘—v"-:..‘,—,,-.n-:‘—’w---.——-—-—--—-_--—_’-
l/"
-15000 ‘ ‘ ‘ ‘ ‘ !
0 0.5 1 1.5 2 2.5 3 ol . . . . .
Number of Rounds %108 0 0.5 1 15 2 25 3
Number of Rounds «10°
Figure 3: Regret of BANDITQ in the full-information set-
ting Figure 4: Reward accrual rates in the bandit feedback
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Figure 6: Regret of BANDITQ in the bandit feedback set-
Figure 5: Queue lengths in the bandit feedback setting ting

Figure 7: Performance of the BanditQ policy with N = 1000 arms in both full
information and bandit feedback setting



